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(b) (10 points) Solve the initial value problem:
i
y =—y+Vz,y(l) =
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(b) (10 points) Use undetermined. gp_eﬁcien‘c/or variation of parameters,
find the general solution to the differential equations :

' ‘ " B t

e st e

_.,'. . ! I ;
- OV ,: - - 4
/

o 1
L

{,,i
)_Gi%:{lfb"(‘jb
Yo =0 Yo =0 | 5
Vo Qonth=t PG Jack hottheto€
. 4 ¢
b=0 =1 : |

e
:‘%ZJE \ \ %z
\‘%L;’i&'

o ey - 9,

Scanned with CamScanner



\JUH/\ "jl-l-l\(’(j &)\C( 28 nje hlw@pbeym
5 \@J;Tj——w( oey solv X+ ohkv W\DLF;
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V' (b) (3 points) Determine the sta}(nht%r o‘f the ethbnum solutions.
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(c) (5 points) Prove that if y(¢) is a solution and y(O) = 1, then 0 <\9">c
y(t)<2forallte( 00, 00). g
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